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[ If you are conducting an experiment where the probability of a success is .02 and you are interested in
the probability of 4 successes in 15 trials, the correct probability function to use is the
a. standard normal probability density function
b. normal probability density function
c¢. Poisson probability function
d. binomial probability function

2. In the textile industry, a manufacturer is interested in the number of blemishes or flaws occurring in
each 100 feet of material. The probability distribution that has the greatest chance of applying to this
situation is the
a. normal distribution
b. binomial distribution
c. Poisson distribution
d. uniform distribution

3. Z is a standard normal random variable. The P(-1.5 <Z <1.09) equals
a. 0.4322
b. 0.3621
c. 0.7953
d. 0.0711

4, There are 6 children in a family. The number of children defines a population. The number of
simple random samples of size 2 (without replacement) which are possible equals
a 12

15

3

16

ae o

5. Whenever the population standard deviation is unknown and the population has a normal or near-
normal distribution, which distribution is used in developing an interval estimation?
a. standard disfribution
b. z distribution
¢. alpha distribution
d. tdistribution
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Exhibit AA
The manager of a grocery store has taken a random sample of 100 customers. The average length of time it
took these 100 customers to check out was 3.0 minutes. It is known that the standard deviation of the
population of checkout times is one minute.

6. Refer to Exhibit AA. The standard error of the mean equals
a. 0.001
b. 0.010
c. 0.100
d. 1.000

7. Refer to Exhibit AA. With a .95 probability, the sample mean will provide a margin of error of
a. 1.96

b. 0.10

c. 0.196

d. 1.64

8. The following random sample from a population whose values were normally distributed was
collected.

10 12 18 16

The 80% confidence interval for p is
12.054 to 15.946
10.108 to 17.892
10.321 10 17.679
11.009 to 16.991

o oo

Exhibit BB
n=36 X =246 S=12 Hp: p=20
Ha: p>20

9. Refer to Exhibit BB. The test statistic is
a. 23

0.38

-2.3

-0.38

a e o
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10.  Refer to Exhibit BB. The p-value is between
a. 0.005t0 0.01
b. 0.01100.025
c. 0.025t00.05
d. 0.05t00.10

11. Refer to Exhibit BB. If the test is done at 95% confidence, the null hypothesis should
a. not be rejected
b. berejected

L

Not enough information is given to answer this question.
d. None of these alternatives is correct.

Exhibit CC

A random sample of 16 students selected from the student body of a large university had an average age of 25
years and a standard deviation of 2 years. We want to determine if the average age of all the students at the
university is significantly more than 24, Assume the distribution of the population of ages is normal.

12.  Referto Exhibit CC. The test statistic is
a. 1.96

b. 2.00

c. 1.645

d. 0.05

13.  Refer to Exhibit CC. The p-value is between
2005 to .01

b. .011t0.025

c. .02510.05

d. .051t0.10

f

14.  Given two unbiased point estimators of the same population parameter, the point estimator with the
smaller variance is said to have
a. smaller relative efficiency
b. greater relative efficiency
c. smaller consistency
d

. larger consistency
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15. A sample of 20 cans of tomato juice showed a standard deviation of 0.4 ounces. A 95% confidence
interval estimate of the variance for the population is
a. 0.2313t0 0.8533
b. 0.2224 to0 0.7924
c. 0.0889100.3169
d. 0.09251t0 0.3413

Exhibit DD
When individuals in a sample of 150 were asked whether or not they supported capital punishment, the
following information was obtained.

Do you support Number of
capital punishment? individuals
Yes 40
No 60
No Opinion 50

‘We are interested in defermining whether or not the opinions of the individuals (as to Yes, No, and No
Opinion) are uniformly distributed.

16.  Refer to Exhibit DD. The calculated value for the test statistic equals
a. 2

b. -2

c. 20

d. 4

17.  Refer to Exhibit DD. The number of degrees of freedom associated with this problem is
a. 150

b. 149

c. 2
d. 3

18.  Referto Exhibit DD. The p-value is

a, largerthan 0.1
b. less than 0.1
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c. lessthan 0.05
d. larger than 0.9

a. 144
2,073.6
5,760
6,000

= I

a. 0.432
1.8
4.17
28.8

S

value is

a. greater than 0.10

b. between 0.10 to 0.05
c. between 0.05 to 0.025
d. between 0.025to 0.01

b. factorial design

a. randomized block design

Exhibit EE

Source Sum Degrees Mean
of Variation of Squares  of Freedom Square
Between Treatments  2,073.6 4

Between Blocks 6,000 5 1,200
Error 20 288
Total 29

19.  Referto Exhibit EE. The sum of squares due to error equals

20.  Refer to Exhibit EE. The test statistic to test the null hypothesis equals

21.  Refer to Exhibit EE. The null hypothesis is to be tested at the 5% level of significance. The p-

22.  An experimental design that permits statistical conclusions about two or more factors is a
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c. completely randomized design

d. randomized design

23.  Correlation analysis is used to determine
a. the equation of the regression line
b. the strength of the relationship between the dependent and the independent variables
c. a specific value of the dependent variable for a given value of the independent variable
d. None of these alternatives is correct.

24,  Inaregression and correlation analysis if ¥ = 1, then
a. SSE must also be equal to one
b. SSE must be equal to zero
¢. SSE can be any positive value
d. SSE must be negative

25.  Inaregression analysis if SSE =200 and SSR = 300, then the coefficient of determination is
a. 0.6667

0.6000

0.4000

1.5000

R o o
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